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def what (num):

if num <= 1:

return 1

result = num
for 1 in range(l, num):
result = result + what (i)

return result

for i in range(3, 8):

print(what (i))
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dict = build shift dict(“abcz”, 3)
print (dict)
09T
{'a': 'd', 'c': '£', 'b': 'e', 'z': 'c'}
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cipher = apply shift (“abcz”, 3)
print (cipher)
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def apply shift(text,shift): I
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my dict = {'datal': 100, 'data2': -54, 'data3': 247}
result = 1
for key in ny dict:

result *= key

print (result)
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class Coordinate (object):
def init (self, X, vy):
self.x = x
self.y = vy
def str (self):
return "<" + str(self.x) + "," + str(self.y) + ">"
def distance(self, other):
x diff sq = (self.x-other.x)**2
y diff sqg = (self.y-other.y)**2
return (x diff sq + y diff sq}**0.5

c = Coordinate (3, 4)

origin = Coordinate (0, 0)

print(c.x, origin.x)

print(c.distance (origin))

print (Coordinate.distance(c, origin})
print(origin.distance (c))

print(c)
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def what2(pl, p2):
k = nn
for ¢ in pl:
if p2 !

return k

print(what2 ("hello","e"))
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